
Pochodne funkcji elementarnych
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Własności pochodnej

• suma: f(x) = g(x) + h(x) 7→ f ′(x) = g′(x) + h′(x)

• iloczyn: f(x) = g(x)h(x) 7→ f ′(x) = g′(x)h(x) + g(x)h′(x)

• iloraz: f(x) = g(x)h(x) 7→ f
′(x) = g

′(x)h(x)−g(x)h′(x)
[h(x)]2

• funkcja złożona: f(x) = g(h(x)) 7→ f ′(x) = g′(h(x))h′(x)

Całki wybranych funkcji elementarnych

•
∫
1dx = x+ c

•
∫
xndx = 1

n+1x
n+1 + c

•
∫ 1
xdx = ln|x|+ c

•
∫
exdx = ex + c

•
∫
sin(x)dx = −cos(x) + c

•
∫
cos(x)dx = sin(x) + c

Całkowanie przez części
∫
u(x)v′(x)dx = u(x)v(x)−

∫
u′(x)v(x)dx
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